Subject: Re: Help needed!!
Posted by bala murugan on Tue, 20 Apr 2010 17:43:08 GMT

View Forum Message <> Reply to Message

On Apr 19, 12:26 pm, David Fanning <n...@dfanning.com> wrote:

> Craig Markwardt writes:

>> A Poisson deviate is the thing you originally desired! A single

>> Poisson deviate is one random draw from the Poisson distribution. A
>> histogram of N deviates will approximate the Poisson distribution, and
>> as N tends to infinity, the histogram will tend to the Poisson

>> distribution exactly.

We shall not cease from exploration
And the end of all our exploring

Will be to arrive where we started
And know the place for the first time.

From The Four Quartets
T.S. Eliot

David Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming:http://www.dfanning.com/
Sepore ma de ni thue. ("Perhaps thos speakest truth.")
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My objective like | said is as follows,

an IDL routine that takes as input the mean of a Poisson

distribution (fLambda = a floating point number >= 0.0) and a number
of realizations (N), and generates N samples from the Poisson
distribution with mean fLambda. The output samples should be
provided

as a vector (list) of integers (each >= 0).1 will also want to plot

a histogram of the samples (IDL probably has a built-in histogramming
routine).

| couldnt make the following work :( (Its just too complicated!!)

FUNCTION poi,fLambda,N

a=FLTARR(N)

FOR i=1,N-1,1 DO BEGIN

r = RANDOMU(SEED,1)

FOR j=1,(5*N),1 DO BEGIN
X = ((fLambda”))/(exp(fLambda)*factorial(j)))
z=abs(x-r)

if z1t 0.1 THEN a[i]=j & print,r,abs(x-r) & ENDFOR
ENDFOR
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RETURN,a
END
Rather | guess the following satisfies my objective,

IDL> data = RANDOMU(SEED,N,POISSON=fLambda)
IDL> PLOT,HISTOGRAM(data,BINSIZE=1),PSYM=10

Where, N- number of realizations
fLambda - mean of the poisson distribution

David,
Can you please check if I am right about the second method?
Thanks,

Thanks to all the guys who replied, | got to learn a lot from your
replies.
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